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BAMB42 — BIO-STATISTICS

Time : Three hours Maximum : 76 marks

10.

SECTION A — (10 x 2 = 20 marks)

Answer ALL.questions.
Define statistics.

What are the nature of statistics?

Define probability.

Define an event with example.
Define correlation.

Explain positive cor-elation.
Define one-tailed and two tailed tests.
What is alternative aypothesis?
What is analysis variance?

Define randomisaticn.
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12.

13.

14,

(a)

(b)

(a)

(b)
(a)
(b)
(a)
(b)
(a)

(b)

~Describe about the sample space and

SECTION B — (5 x 5 = 25 marks) SECTION C — (3 x 10 = 30 marks)

Answer ALL questions.
- 4 : Answer any THREE questions.

What are the limitations of statistics?
Or

Explain about: the various typés of 7N Explam addition and multiplication theorem :

classification. ; _ on probability.

16. Describe about the tabulation of statistical data.

(b) 'Two cards are drawn from a pack of cards at

random. What is the probability that it will

be (1) a diamond, and a heart (11) king and a
_guaeen (i) two kings?

Define mutually — exclusive and primary
event W1th an example. '

¥ Ol"

Calculate the coi‘relation coefficient from the
: . . 4 i following data: ;
Hixplatn SaboutS scationidiaprain it an: ‘Height of children: 100 120 130 95 98 92 97

complementary event.

example. :
' 0 Weight of children: 10 15 20 22 26 20 19
g :
Explain about regression lines with an 19. One fifth percent of the blades prodﬁced by a blade
example. ; manufacturing factory turn out to be defective.

e

The blades are supplied in packets of 10. Use
Poisson distribution to calculate the approximate
Or : ' 3 number of packets containing no defective, one
defective, two defective and three defective blades
respectively in a cpnsignmeht of 1,00,000 packets.

Write a short note an binomial distribution.

Explain about sign with an example.

Explain about local control.
: 20. Three treatment A, B and C are tested: to see

Or whether their outputs are equivalent. The
Describe about two-way classification. f_ollowing observation of output are made: '
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